ERI0FEE MEUNE-MIMRERER (BS)

ERIES: EFITES:] EXICES:] EFICES:] 3 Bl
REER BERE BERE BREEER EHES EHES BEEER EHES EEES HEEER EEES BEfRE HEEER EEES EEES
FEs% 2k B3 M2 HEEE%) FEHH i HEEE%) FEHH i HEER%) FHEHE g HEEE%) FHEHE g M%)
(a) (b) (b/a) (c) (d) (d/c) (e) ) (f/e) (g) (h) (h/g) (h)=(at+cte+g)| (D=(b+d+f+h) (i/h)

HEIRIE 79 5 6 120% 62 75 121% 43 58 135% 14 28 200% 124 167 135%
MEAILE 3 0 0 — 0 0 - 3 1 33% 0 2 — 3 3 100%
PEREHINT 44 5 11 220% 25 38 152% 46 43 93% 31 29 94% 107 121 113%
= 5t 126 10 17 170% 87 113 130% 92 102 111% 45 59 131% 234 291 124%




